BjAEl ' BoF IEl0] 9

= 8Y/HMIZ olo|x]

o

ks

HZE &E:

oleld 3l Y OIS SIS METSZ b st ZXIME QAL
BiX|, T L ST = UELICH QA2 73 EI2 ALE35t04 AA|
M, £2/E29| & HE ME83dto{ THELICH
THE:
Hoek O8] A7tAad, A3,
LIAF 2|5 1.0718.
HZ E AHQIZ|IA AE1.4305.
EM OfF2|:
azle Jlole =2 E AEEI Ol'loj EI:ZIL
AH|QlE|A AR X4 OLF 2|
-3 ZsE
A sdo a2 :
- LAb sl olsl 2 XAk gt0l 7Y - B Q’E‘:
gt AMEo el ATt 23E 7|5,
Ho g J2S AA8E QMBS e x5}
Al
E ™A HE.
-23 9 2w a2 gH
: MMM 2]
27t HE, %2 EF DIN 439
L1
|
= |
| 5 !
- -
= \SW
- Ll
T D3
Dhg
D1
= 29
oleiyl o Sgug g
FEHS D D1 D2 D3 H H1 L L1 AEZS SW
S
K1582.108040 4 M8 32 14 20 10 39 15 4 8
K1582.210050 5 M10 40 18 24,9 13 46,9 17 5 10
K1582.312060 6 M12 50 22 31,8 17 57,8 20 6 12
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



(]
ZaJAEI B o Ol'= AE|O|CIA] Ol S2HI
SCiLE EH 2 O 0] s 28 2IHY X EE OH
E52%
FEHS D D1 D2 D3 H H1 L L1 AE=S] SW
S
K1582.416080 8 M16 63 26 40 21 74 26 8 16
K1582.108041 4 M8x1 32 14 20 10 39 15 4 8
K1582.210051 5 M10x1 40 18 24,9 13 46,9 17 5 10
K1582.312061 6 M12x1,5 50 22 31,8 17 57,8 20 6 12
K1582.416081 8 M16x1,5 63 26 40 21 74 26 8 16

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



